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POWER GENERATION

faytha aug . fa =) (3ftrmaw 3% : 70
Time allowed : Three Hours] [Maximum Marks : 70
Pz () Fm e a8, 99 A @ b ar & I A |

Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(ii) % FT & G4} 9T F) FHER UF T FA Hiord |
© Solve all parts of a question consecutively together.
(iii) FF 597 F 79 J8 & I F19 |
Start each question on fresh page.
(iv) 2 9T 7 3R 817 #1 Rl § S e & 2 8 |

Only English version is valid in case of difference in both the languages.

Lo (1) 96 CE.3E. e

(@) @ (b) feremm
() =&H (d) =

SI unit for energy is

(a) watt (b) kilogram
(c) newton (d) joule

) R frae am R fo fraa w2

(a) AERHX (b) FrEar

(c) 3Fa ¥R (d) 3rEad ¥R
Load which remains constant for the whole day is

(a) Base load (b) Peak load
(¢) Average load (d) Discrete load

@) e d & e a wfe 78 frer wwoafe gam @ 7
(a) e fergga wiferr = (b) e syt wfd w5
(c) Eistet g wifer A (d) fiehra wifd wa=
Which of the following power plant is a peak load power plant ?

(a) Hydroelectric power plant (b) Coal based power plant
(c) . Diesel power plant (d) Nuclear power plant

(10f8) P.T.O.
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e 6g Wi § $u= g o vaw e
(a) I ¥aWF fag & A= (b) T ¥ANF g ¥ Im
(©) MWEwFRgFamd (1) wEfdE g

In case of over feed stokers fuel is supplied in the furnace
(a) below the point of air admission

(b) above the point of air admission

(c) beside the point of air admission

(d) by shovels

ardfra wife wa= At garan 1 U w1 g &
(a) SHUMASRINITAE  (b) I= AT TE H Y9 F I
(c) TIIWHRETHE (d) = aEd 5 & 99 |

The thermal power plant efficiency can be improved by
(a) burning large amount of coal

(b) using high temperature and high pressure steam
(c) decreasing the load on the plant

(d) using large quantity of water

P 3 8 srafefe dom R 2
(a) wuffg &t (b) fagew st

(c) dTgEIH &R (d) Hezerak

Following is not a pulverised fuel burner :

(a) Tangential burner (b) Turbulent burner

(¢) Cyclone burner (d) Radial burner

e ferga otk T & v wm & fore Py 1 & e srawasa 7 2 7
(a) et I IqeTerrar (b) WA &

(c) e ) = i

Which of the following is not a requirement for site selection of hydroelectric
power plant ?

(a) Awvailability of water (b) Large catchment area
(c) Sedimentation (d) Rocky land

e maTd fasfya gar 2

(a) egrRH (b) gR=EH

(c) foeetter areme & (d) TEEAH

Water hammer is developed in a-

(a) Penstock (b) Draft tube

(¢) Surge tank (d) Turbine
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&)

(10)

an

(12)

(13)

et farega wfd & g @ el @ AT @ 7

(a) eTgR I YEIHTE |

(b) feeeier arema & fee

(c) TXETE uTE e au 39 W % 0

(d) TIEER a1 ZTEEA UTaS H HeA

Where is the draft tube of a hydroelectric power plant located ?
(a) At the beginning of the penstock

(b) Near the surge tank

(c) Inbetween the turbine runner exhaust and the tail race
(d) In between the penstock and turbine runner

T wifa w5 3 A w1 aer Yfider & w9 § s T R 7
(a) o |fEam (b) UHTE

(c) aferm (d) uga @t

In nuclear power plants which material is used as coolant ?

(a) Liquid sodium (b) Graphite

(¢) Beryllium (d) All of the above

e ) TEvaHAl T8l B

(a) @@ gaa et froae | (b) i froge §

(c) YA 9o fog & (d) sfret fowen d

Moderator is not required in
(a) Pressurized water reactor  (b) Gas cooled reactor
(¢) Boiling water reactor (d) Breeder reactor

ﬁmﬁﬁﬁmqﬁaﬁuﬁqmﬁuw%m%ﬁﬂwﬁﬁnmaﬁmm
TR ?

(a) | fia Row (b) T g Yaet feae

(c) o™ ga o fgF (d) YA 9 fEet

Which of the following nuclear reactor does not need a heat exchanger for
generation of steam ?

(a) Gas cooled reactor (b) Liquid metal cooled reactor

(c) Pressurised water reactor (d) Boiling water reactor

et S IR A 1 gEaa: Iam e e

(a) TomET & @ (b) ITUT R F= ! TE

(c) wfafmwfFmamhiar (d) v v fafa wid = 6 a@
Diesel engine power plants are mainly used

(a) As peak load plant (b) As base load plant
(c) As standby power plant (d) Both as peak and standby plant

PUT.OI
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(14)

(15)

(16)

(17)

(18)

(19)

= 3 2 fora 77 =1 3w oy foresh vt & g 1 9 %@ & fore fem s 2 2
(a) ferwt (b) HEHER

(c) Bt (d) uH

Which among the following instruments is provided on the air exhaust system to
reduce the pressure ?

(a) Ducts (b) Muffler

(c) Strainer ‘ (d) Purifier

Sisiet Nifek A | g anTd wrelt 2

(a) = (b) A

() weH (d) wga®HH

The lubrication cost in diesel power plant is

(a) High (b) Low

(¢) Moderate (d) Verylow

=1 4 @ ww w1 e e @99 % g sEEE @ 7

(a) wuf= (b) wefizs

(c) amTH (@) )T ()T
Which among these is the main component of a gas turbine plant ?
(a) Condenser (b) Compressor

(c) Boiler (d) Both (b)and (¢)
a ZraTs v s o w7

(a) M =H (b) FeATH

(c) Eoet=m® d) H=w

A gas turbine works on which cycle ?

(a) Carnot cycle (b) Brayton cycle

(¢c) Diesel cycle (d) Rankine cycle
ardta sife w2 i gorn § N oare 9a B B

(a) gy (b) FHZE

(c) W9H g&ma (d) 3Iugaa d A w1 7
As compared to thermal power plants gas turbine plants are
(a) more efficient (b) less efficient

(c) same efficiency (d) None of the above
ferewan 1urieh =1 5T AT 2

(@ 0 (b) 1

(¢) 1¥=®W (d) 3 s

The value of diversity factor is

(a) 0 (b) 1

(¢) lessthan | (d) greater than 1
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(20) R =% % =i fafea dawe g st 2
(a) I &9 & 3ied YR =
(b) I=Iaw "
(c) TfPeaa gwa & senfea faga =t
(d) WR I W
Area under the load curve represents
(a) the average load on power plant
(b) maximum demand

(c) electricity generated in particular time
(d) load factor

(21) P 7T B &
(a) IeIaw gt / S A (b) I=aW AW / GEEE W
(c) 3frHa = / I=aw = (d) Hgfia 9R / I=aH |
Demand factor is the
(a) Maximum demand/Average demand
(b) Maximum demand/Connected load

(c) Average demand/Maximum demand
(d) Connected load/Maximum demand

(22) TEEwiE Hai 6 af R

(a) I= T (b) Efer Tl 9 ITeTEEl
(c) 3= fopanfa @ (d) faveea smyfd
Disadvantage of renewable energy is
(a) High pollution (b) Available only in a few places
(¢) High running cost (d) Unreliable supply
(23) =g %1 gE A R
(a) A (b) e SEATFETES
(c) T (d) TG
The main composition of biogas is
(a) Methane (b) Carbon dioxide
(¢) Nitrogen (d) Hydrogen
(24) T U= § v # Fea= g ww At
(a) SeATEd! G (b) feeum
(c) THi(a)F(b) (d) T AT
Current developed in MHD generator is
(a) Alternating current (b) Direct current
(¢) Both (a) and (b) (d) None of these

P.T.O.
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(25)

(26)

27

(28)

(29)

(30)

R guTes uftafdd s 2
(a) URFHA B TEEE SHH (b)) HR T B fafwr
(c) ER IS I T FHaAf A (d) ER I B! i FHat §

Solar collector converts

(a) Solar energy into chemical energy
(b) Solar energy into radiation

(¢) Solar energy into thermal energy

(d) Solar energy into mechanical energy

Tad 1fires I9FnT fora s aren @R et £

(a) S (b) Fefrm

(c) Tafeia (d) FwmE

Most widely used solar material is

(a) Arsenic (b) Cadmium

(¢) Silicon (d) Steel

dR yaTe Avg At 1 e A 2

(@) 25% (b) 15%

(c) 40% s (d) 60%

The efficiency of solar photovoltatic cell is about

(a) 25% (b) 15%

(c) 40% (d) 60%

9a & 71fa Y 7T A= R

(a) SRR (b) R

(c) Umnfie (d) a9 %orh
Instrument used for measuring wind speed is

(a) Pyranometer (b) Manometer

(¢) Anemometer (d) Wind vane
Sfad 2139 9a Tahl o ST Fa gar o ¢

(a) 1925 (b) 1932

(¢) 1929 (d) 1948

When was Darrieus type wind machine invented ?

(a) 1925 (b) 1932

() 1929 (d) 1948

YA Sl ! frga St § aiafda w0 % fore freeh) smavasa adt 2 2
(a) ETHA (b) =T

(¢) TaHRA (d) I H A HIETE
What is used to convert wind energy into electrical energy ?
(a) Turbine (b) Blades

(¢) Yaw motor (d) None of these (1x30)
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2.

(1)

(ii)

(iii)

(iv)

v)

(i1)

()

(i)

(ii)

()

(i)

i areeafiss St @t & T fafew |
Name different conventional sources of energy.
33 TRE B&H 693 1 e SATEvIHary |

Basic requirements of a good ash handling plant.
o wife Eam # Wi T & 39 |

Use of heavy water in nuclear power plant.

ot IfFa G371 & I |

Applications of Diesel power plant.
R Fl &1 Fifas FHal &9 7 HSR0

Storage of solar energy in form of mechanical energy. (2x5)

ardta SifE T T - 3T TR qU1 36 HE TG B T |
Draw general layout of thermal power plant and explain its working.

T F TEH F 90 T F fagr #) afes anee |
Explain over feed method of coal burning with neat sketch. (5+5)

T ¥ et forege Ry a3 %) - T TR FHATEA |
Explain high head hydro-electric power plant with a layout.
St w1 G4 % Wt raEl 1 g e U W@t s #ed | o Hoswe 3

Crga vgfa %1 ferega vl HIF |
Draw a line diagram of diesel power plant showing all the systems. Describe in
detail the fuel storage and lubrication system. (5+5)

za mmmﬁmmﬁwﬁamm% |
Explain, with neat sketch the working of a liquid metal cooled reactor.

e i w3 R T e 3T e fft ferfad |

Write a note on hazards and safety measures in nuclear power plant. (5+5)

fr zraTeR S 1 i Hife Ud $ gy ey |
Classify the gas turbine plants and write their applications.
ﬁgam%gmﬁéﬁa%wmmaﬁwﬁamaﬁmmﬁl

Write the factors affecting choice and type of power plant for power
generation. (5+5)
P.T.O.
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7. (i) A THR F @R qures & afym avia i |

Describe concentrating type solar collectors with a diagram.

(i) ®R mEEn fafh w1 afem aofa i |

Explain solar distillation method with sketch. C

8. (i) U FHl o WA # w1 Wiy & 7 qaw FHrt o fard ferRat |
What is the future of wind energy in India ? Write limitations of wind energy.
(i) A el v k) i FrfvoTeh wf guETE |

Explain working of horizontal axis wind mill with sketch. (5+5)

9. e v e Fouaforat firfed

Write short notes on the following :

(i) ¥
Moderator
(i) B el dw
Photovoltaic Cell
(iii) =g

Biogas (3+3+4)



